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(A)The products are cis-trans isomers.

(B) The products are identical.
LASME =AM > £ 1004 -

21H #£27

(C) The products are constitutional isomers.
(D) The products are enantiomers.
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(E) The products are diastereomers.
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(A) TsCl, pyridine followed by LiAIH,.
(B) Na2Cr207, H2804.

4. Which of the following reagents can be used to convert cyclopentanol to cyclopentane?
1. Dehydration of I-butanol with concentrated sulfuric acid at 140 °C results in the
conclusions might be valid?

(C) NaBH4 followed by H;0*
(D) Ha8Oq, heat followed by Hy, Pt.
(E) both A and D.
: b.
formation of mainly trans-2-butene. According to these results, which of the following
(A) The reaction undergoes an E2-type elimination mechanism.
intermediate.
shift.

shift.

(A) oxidized from Cr? to Cr*6
(C) The reaction undergoes an El-type elimination mechanism in conjunction with a hydride

In the chromic acid oxidation of alcohols, the chromium is:
(B) The reaction follows a new mechanism involving the formation of a carbanion

(B) reduced from Cr*® to Cr*>.
(C) oxidized from Cr*® to Cr™

(D) reduced from Cr** to Cr'.
(E) none of the above.

(D) The reaction undergoes an E2-type elimination mechanism in conjunction with a methyl

(E) The reaction undergoes an El-type elimination mechanism with no shifting.
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(A) Friedel-Craft reaction. (10 %)
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2. Which of the following alkyl halides reacts most rapidly via an Syl solvolysis reaction in
hot methanol? (B) Baeyer-Villiger oxidation. (10 4~)
(A)1-iodohexane. 0
(B) 1-fluorohexane. | O)K PhCOOH Crom/
(C) (R)-2-bromohexane | CHLCl, Y
(D) iodocyclohexane |
(E) 1-iodo -1 -methyicyciohekane.
3. Consider the constitutional isomers 2-methylbut-1-ene, 2-methylbut-2-ene, and 3-methyl-
but-1-ene. When each of these alkenes is subjected to catalytic hydrogenation (Hz, Pt), a
single product results. Which of the following best describes the structural relationship among
these products? ' '

2. Diethyl malonate can be prepared by the following reaction sequence. Draw the structures

of each of the missing intermediates in the boxes provided. (BB %4 5 5 #1320 4)
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Diethyl maloante

3. Choose the best reagent for carrying out the following reactions from the list below. Place
the letter of the reagent(s) in the box over the reaction arrow. Use only one letter per box. (%
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A. NaH, then CHsl B. NaOCHs, CH;0OH
C. m-ClCeHsCOsH D. CHsMgBr in ether, then H;O"
E. warm H2SO4/H20 F. Hg(0,CCF3), CH30H
G. Hy/Pd H. PCC, CH:Ch
L Ch,H0 J. LiAlHq in ether, then H;O"

4. Classify the following compounds below as aromatic, antiaromatic, or nonaromatic. (20
)
(a) (b) (© (d) ; (e)
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